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Fundamentals of Electric Circuits, 3/e, Charles Alexander, Matthew Sadiku

COSMOS: Complete Online Solutions Manual Organization System

Chapter 3, Problem 2.

For the circuit in Fig. 3.51, obtain vy and v,.
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Figure 3.51
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COSMOS: Complete Online Solutions Manual Oreanization Svstem

Chapter 3, Problem 15.

Apply nodal analysis to find i, and the power dissipated in each resistor in the circuit of
Fig. 3.64.
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LCOSMOS: Complete Online Solutions Manual Organization System

Chapter 3, Problem 73.

Write the mesh-current equations for the circuit in Fig. 3.117.
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COSMOS: Complete Online Solutions Manual Organization System

Chapter 3, Problem 44.

Use mesh analysis to obtain i, in the circuit of Fig. 3.90.
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COSMOS: Complete Online Solutions Manual Oreanization Svstem

Chapter 3, Solution 44.
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Loop 1 and 2 form a supermesh. For the supermesh,
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